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A% |a X INF 32 : u Sv |[fE[BEAL: (fE[EAL:

= = /h] (1 Sv/h] | 1 Sv/h]
1124 |02 A AR Eh 0.67 1.02 — N1E=E
1124 |03 A AR 12 h 0.30 0.57 — [17E=E
1125 |01 N B EAT Eih 0.81 1.10 — [71E=E
1125 [02 N KET Eih 0.57 0.89 — |[11E=
1125 |03 HARE RAET i 0.80 1.10 — N1E=E
1126 |01 EXEF HiES Eih 0.44 0.61 — |[11E=E
1126 |02 A HOER Eih 0.83 1.21 — |[11EZE
1126 |03 HAREF HHOE b | 0.44 0.73 1.25 11 EE
1127 o1 ERX % 35T Eih 0.19 0.28 1.59 (043
1127 |02 ELRX ARG FAI7ILE 0.68 1.21 —  |04;F7
1127 |03 ELRX SElE] FAI7ILE 0.34 0.55 —  |04;F7
1127 |04 BEARE F/NE FAI7ILE 0.44 0.69 — [171E
1127 )05 FLRX 3 35 HT > F 0.56 1.00 1.44 |04:F7K
1128 |01 FLRX oL FAI7ILE 0.27 038 | — [o4FK
1128 |02 LR F 3435 FAI7ILE 0.23 036 | — [o4FK
1128 |03 LR SN FAI7ILE 0.33 044 — [o4FK
1129 o1 BRX FA R FAI7ILE 0.28 0.47 0.96 [04;&K
1129 [02 FRX /R Hih 0.93 1.24 2.24 [04;5 K
1129 [03 BIRX Je)R FAI7ILE 0.41 0.60 —  |oaEk
1129 |04 FLRX iETED FRAI7ILE 0.47 072 — [o4FK
1130 |01 = EA FAI7ILE 0.37 0.54 —  [oaidk
1130 [02 BRX a5t FAIZ7ILE 0.34 0.42 1.06 [04;&7K
1130 |03 R E/KH Rt 0.73 1.12 1.64 |04:&7K
1130 |04 R KA T AI7ILE 0.33 0.55 — 045K
1130 [05 = BRH Eih 0.89 1.23 2.07 [04:57K
1131 |01 3 =10 FAI7ILE 0.33 0.61 1.27 [04;F K
1131 |02 = X eF FAI7ILE 0.56 0.85 —  |o4iF K
1131 |03 = =tilgE 24 0.23 0.34 2.28 |04;&F 7K
1131 |04 = Y&/ N a1 —k 0.47 0.75 1.50 [04;F 7K
1131 ]05 R I Rith 0.16 1.13 1.93 |04:F7K
1132_|01 fEL LI TFAI7ILE 0.48 073 — lo4FK
1132 |02 R FoiE FAI7ILE 0.43 071 — Jo4aEK
1132 |03 R PP 3 Rith 0.24 1.23 1.97 |04:F7K
1132 |04 = ihH FAI7ILE 0.36 0.53 —  [oaidk
1133 |01 fEn L LAaHs FAI7ILE 0.45 0.69 1.81 [04FK
1133 [02 fELL N FAI7ILE 0.36 0.57 1.37 |04;F 7K
1133 [03 (BT =4&H 2 0.24 1.52 2.59 [0435 7k
1133 |04 f#L hEE FAI7ILE 0.41 0.56 —  |o4:F K
1134 |01 fE L h E & 12 Hh 0.27 0.50 0.73 [04;57K
1134 |02 fEn L HEfr H FAI7ILE 0.44 0.82 1.41 [04;5K
1134 |03 1L AR FAI7ILE 0.84 1.05 1.71 [04;F K
1134 |04 fEILL %= H FAI7ILE 0.54 0.73 —  |o4iFk
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i s BITE |(H244E3 |(H234E6 "
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VA% |5 X IhNFE 3 p Sv |[{E[EAL: [{BE[EE4L:

= = /h] (1 Sv/h] | 1 Sv/h]
1135 |01 fEn L A 1 ih 0.53 1.82 — |o4FEK
1135 |02 fiEl L B Eih 1.58 2.32 —  |04;FK
1135 [03 fEn L itk O F 0.98 1.38 —  |o4FEK
1136 |01 [EES AEFPil R 1.26 1.82 —  [oo&Fr
1136 [02 438 =28 Eih 1.12 1.54 —  [oo&Fr
1136 [03 H+30 N b F 1.16 1.58 — 00X
1137 |01 453 ¥ LU BT FAI7ILE 0.42 0.70 —  |00OKFT
1137 |02 F+3D ¥ LU BT T AI7I)LE 0.30 0.56 —  |0OKFT
1137 |03 F+58 ¥ LU AT FAI7ILE 0.50 0.79 2.18 |00 T
1137 |04 H+33 & Al Eih 0.18 0.28 2.25 |00K&T
1138 |01 133 THRF Eih 0.27 1.01 1.54 [00&FF
1138 [02 H+50 =i Eih 0.24 1.06 —  |0o0XFF
1138 |03 H+33 =HER B 1.13 1.61 2.38 |00A&T
1139 |01 FE HN 4 i 0.53 0.92 — |os5EEER
1139 |02 FE fiti5 Eih 1.05 1.52 —  |o5EEER
1139 |03 FER fiti5 Eih 0.97 1.26 — |05 ER
1140 [o1 [it] ZB EX:) FAI7ILE 0.25 0.42 1.17 |055E &R
1140 [02 fit] &1 HiIEH Eih 0.99 1.39 1.65 |05EE &R
1140 |03 [if] & = KHI FAI7ILE 0.22 0.61 — |osEEB
1140 [04 & AR a>9)—k 0.31 0.40 1.18 [05F &
1141 o1 Eiks HiIH Eih 1.07 1.50 2.24 |05 &6
1141 |02 [ & h& B ih 1.00 1.36 — |05 ER
1141 |03 Eaks =2/R a9 —k 0.24 0.47 0.95 |05F &}
1141 |04 fit] &R RKAR it 0.64 0.85 —  |o5FER
1142 |01 wa e D F| 0.71 0.94 — |o5EER
1142 (02 wa R Eih 0.68 0.83 —  |05EER
1142 |03 wa =1l Eih 0.85 1.03 — |os5EER
1167 |01 NG [R & i 0.42 0.76 — |[11E=E
1167 |02 HEARE [R & i 0.68 1.01 — |[11E=ZE
1167 |03 HARE #Edt B F 0.28 0.48 087 17EE
1168 |01 N #edt i 0.60 0.88 1753
1168 |02 HARE i) Eh 0.55 0.85 — N1E=E
1168 |03 P N £H4 Eih 0.45 0.82 — [171EZE
1169 |01 AT TEH T AI7ILE 0.35 0.57 — |[171E=E
1169 [02 EAREK BT /A T AI7ILE 0.17 0.28 — [171E=
1169 [03 AR = FAI7ILE 0.30 0.53 — |[11E=ZE
1170 |01 \EH BARFEHRT FAI7ILE 0.27 0.49 — [11E=ZE
1170 [02 \EH kA HET FAI7ILE 0.34 0.59 — |[11B=ZE
1170 [03 J\EH ttHE b F 0.14 0.59 1.02 [17EZE
1170 |04 \EH iR FAI7ILE 0.43 0.53 — [171E=
1171 o1 ELRX Kig Fith 0.67 0.98 —  |o4iFk
1171 |02 FRX AH B F 0.66 0.98 —  |04;FK
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a% = X INFE fi: u Sv ({E[BAL: |fE[BE{L:

5 /h] 1 Sv/h] | 1 Sv/h]
1171 |03 FRX LEEH Eih 0.73 1.13 —  |o4iFK
1172 o1 S5 HET =% 2ih 0.13 1.13 1.81 [04;&FK
1172 [02 \EH BEEH Zith 0.25 1.45 215 [11EE
1172 |03 FRX hEEHI Eih 0.17 0.21 2.05 |04;& K
1173 |01 FRX R JE 2R a>91)—k 0.63 0.96 — |04/ K
1173 |02 Fa %0 T AI7ILE 0.51 0.78 1.25 |04;&F 7K
1173 |03 Ha IR FAI7ILE 0.35 0.58 —  |o4;F K
1173 |04 Ha BHEHE FAI7ILE 0.28 0.48 —  |o4FEK
1173 |05 Ha ELEEE Eih 0.16 1.01 1.87 |04;&7K
1173 |06 Ha SEK 2 #h 0.64 0.92 1.67 |04;5 K
1174 |01 3 BT Eih 0.28 1.55 2.47 |04;F 7K
1174 (02 3 BT av9)—k 0.59 0.93 — 045K
1174 |03 = mH 12 Hh 0.88 1.23 — 045K
1174 |04 = BRLEHE FAI7ILE 0.30 0.40 — 045K
1174 |05 & B35 Eih 0.17 1.19 2.02 [04;F K
1174 |06 & FHEA AT | 7RAI7ILE 0.50 0.78 — |04/ K
1174 [07 = HH FAI7ILE 0.63 0.99 1.93 [04;F K
1175 |01 fEl L LI EH T AI7ILE 0.40 0.98 —  |04;87K
1175 |02 3 EEN T AI7ILE 0.46 0.76 —  |04;57K
1175 [03 Ha INNER a9 —k 0.52 0.82 1.89 [04:F K
1176 |01 & FEmLL o F 0.78 1.21 —  |04:F K
1176 [02 fiEl L P B h 0.97 1.30 —  |o4iFk
1176 |03 fE L R b F| 0.47 0.68 —  |o4iFK
1177 |o1 fiEn L Fall Eih 1.30 1.67 —  |o4FK
1177 |02 fiE L X b F 0.86 1.18 —  |o4iFK
1177 |03 fEn L = B ih 0.95 1.45 —  |o4iF K
1178 |01 fiEl L [EESI £ F 1.05 1.35 — o4z k
1178 |02 fELL H Eih 0.92 1.40 —  |04FK
1178 |03 fElLL 1L/ FAI7ILE 0.53 0.76 1.83 [04;F 7K
1178 |04 fEn L = Eih 0.52 0.88 —  |o4FEK
1178 |05 EXxWw FE Eih 0.95 1.31 2.61 [00K&T
1178 |06 ExW BRE FAI7ILE 0.55 0.89 1.97 [00&FF
1179 |01 ASTHT a9 —k 0.55 0.90 1.69 [00A& T
1179 |02 EEST ek 2 1h 0.54 0.88 1.71 [00&FF
1179 |03 ASTHT Eih 0.83 1.28 2.85 [00A& T
1179 |04 EXL eI b F 0.79 1.18 —  [oo&Fr
1180 |01 f+320 £ H a9 —k 0.62 0.98 1.95 00T
1180 [02 J\SHT FAI7ILE 0.36 0.57 1.26 |00 T
1180 |03 J\SHT FAI7ILE 0.41 0.63 1.31 |00 T
1181 |01 J\EH] Fih 0.81 1.08 2.33 |00 T
1181 |02 Y& ] BT a9 —k 0.58 0.85 2.01 |00 T
1181 |03 Y& n] BT T AI7ILE 0.68 0.84 1.54 |00 T
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1181 |04 I ;o] BT FAI7ILE 0.69 0.92 1.81 00T
1181 |05 A+32 EEF FAI7ILE 0.40 0.67 1.72 |00 T
1181 |06 A+33 eep)IlE FAI7ILE 0.47 0.70 1.93 [00A& T
1182 |01 EER fit] &R FAI7ILE 0.35 0.56 1.54 |055 &R
1182 [02 A& FER FAI7ILE 0.55 0.81 1.08 |05 5 &R
1182 [03 EE X3 FAI7ILE 0.52 0.81 1.48 055 &R
1183 |01 Eiks = av91)—k 0.30 0.51 1.15 |05 5 &R
1183 |02 Eiks AiIH T AI7ILE 0.40 0.53 1.35 |05 5 R
1183 |03 Eiks = b F 0.63 0.77 1.30 055 &R
1183 |04 Eiks N FAI7ILE 0.55 0.87 —  |o5FER
1184 |01 ] BIHE T AI7ILE 0.85 1.26 2.05 |05F 2}
1184 |02 [Eak=H Eic] T AI7ILE 0.32 0.48 — |05 ER
1184 |03 i FEE FAI7ILE 0.21 0.39 — |o5EER
1184 |04 wa BT R FAI7ILE 0.50 0.78 1.50 |05F &
1185 [01 WA 2 H FAI7ILE 0.29 0.54 1.53 |05 =
1185 [02 [1=] f H FAI7ILE 0.58 0.93 —  |05EER
1185 |03 o AR FAI7ILE 0.49 0.71 1.50 (055 &R
1186 |01 o iR a>9y)—k 0.59 0.85 1.07 |055E &R
1186 [02 o 1L EHh 0.53 1.43 1.84 055 &R
1186 [03 o HPIR FAI7ILE 0.87 1.17 —  |05FEB
1186 |04 [Ii=] M FAI7ILE 0.59 1.04 —  |o5EER
1186 |05 [Ii]=] iR Eih 0.67 1.68 — |o5FEER
1186 |06 o REH B ih 1.69 2.07 — |o5FER
1211 |01 THF #Em B ih 0.59 0.86 — [171E=
1211 |02 BFEARE LI #H Hith 0.51 1.05 — [171E=
1211 |03 THF LLL e i F 0.54 0.80 — [171E=
1212 o1 EARE #Ed Eih 0.47 0.84 — [11EZE
1212 |02 HAR 2K i 0.67 0.97 — 1E=E
1212 |03 HAEF £ H Ehh 0.73 0.92 — [17E=E
1213 |01 AT BTt FAI7ILE 0.27 0.45 — [1E=
1213 |02 N FhEa FAI7ILE 0.40 0.75 — [11E=
1213 |03 HARE 2K T AI7ILE 0.30 0.56 — [171E=
1214 |01 EXE XERE FAI7ILE 0.28 0.46 — |[11E=
1214 [02 NG 7k & FAI7ILE 0.22 0.37 — [7E=
1214 |03 AT #E Eh 0.18 1.27 152 [171EZE
1214 |04 AT RES FAI7ILE 0.33 0.45 — W1EZE
1215 |01 J\EH /0 FAI7ILE 0.38 0.65 — |[11E=Z
1215 [02 \EH FFiEH T AI7ILE 0.31 0.46 — |[11BE=ZE
1215 |03 BEARE HiR FAI7ILE 0.37 0.80 — [71E=
1216 |01 \EH B0 B ih 0.52 0.83 175Z
1216 [02 E7 HHET o/ HT b F 0.13 1.01 1.77 |00 T
1216 |03 S H AT MEEE Bih 0.76 1.30 1.94 [00A&FF
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1216 |04 S5 HET X FAI7ILE 0.48 0.72 1.17 [04;F K
1217 |01 $7 B AT i T AI7ILE 0.27 0.54 —  |04;FK
1217 [02 #a =5 FAI7ILE 0.26 0.42 —  |o4FEK
1217 |03 o= tHE Eih 0.16 1.07 1.72 |04;&F K
1217 |04 $7 HHET +;2HA T AI7ILE 0.37 0.53 —  |00O&KFT
1217 |05 7 HET JE,R Eih 0.15 0.22 1.69 [00A& T
1217 |06 7 HET AR B h 0.67 0.93 1.78 |00 T
1218 |01 Ha Bih Eih 0.12 0.18 2.01 |04k
1218 [02 Z5 | AT FKR Bt 0.13 0.17 1.94 [00KFF
1218 |03 7 AT FHIKFR a>9)—k 0.34 0.44 —  |00A&FT
1218 |04 Ha Aih FAI7ILE 0.19 0.49 — 045K
1218 [05 = b i FAI7ILE 0.27 0.42 — 045K
1218 |06 & — & FAI7ILE 0.20 0.33 —  |o4iF K
1218 |07 S mAET KR Fith 0.16 0.22 2.06 (00T
1219 |01 & P/ FAI7ILE 0.33 0.45 0.85 [04;F K
1219 02 = & I FAI7ILE 0.32 0.48 1.11 [04;F 7K
1219 |03 HE = a>9)—k 0.54 0.93 1.02 |04;& 7K
1220 |01 HZalr FAI7ILE 0.39 0.55 1.32 |00 T
1220 |02 Zair FAI7ILE 0.24 0.37 1.00 [00A&FF
1220 |03 Fa AELL Eih 0.14 0.48 0.71 [043&5 K
1220 |04 HE k=l FAI7ILE 0.41 0.65 — |o4FEK
1221 |01 [EESN AF=E T AI7ILE 0.56 0.98 1.98 [00A& T
1221 [02 il Ly BT Fih 0.42 1.58 2.31 |00&JT
1221 |03 [EESI ML b F 0.69 0.88 —  [oo&Fr
1221 |04 EXL ZXH R 0.90 1.16 —  |oo&Fr
1222 |01 HHHET FAI7ILE 0.28 0.45 1.11 |00 T
1222 |02 RN FAI7ILE 0.36 0.73 1.68 [00A&FF
1222 |03 RN FAI7ILE 0.30 0.44 1.07 [00&FF
1222 |04 HHHET FTAI7ILE 0.45 0.58 1.83 |00 T
1222 |05 HZair FAI7ILE 0.54 0.66 1.76 [00AT
1222 |06 £k K BH 44 2ih 0.45 0.85 2.48 |00AFT
1223 |01 AR HT FAI7ILE 0.60 0.91 2.03 [00AKFT
1223 [02 EBHE FAI7ILE 0.50 0.61 1.40 |00 T
1223 |03 EHHET Eih 0.41 0.57 2.46 |00 T
1223 |04 ¥ EET T AI7ILE 0.45 0.70 1.74 |00AT
1223 |05 EHHET b F 0.46 1.20 2.27 [00A& T
1224 |01 ¥R ET T AI7ILE 0.46 0.81 1.42 00T
1224 (02 J\SHT T AI7ILE 0.35 0.70 —  |00O&KFT
1224 (03 BT FAI7ILE 0.53 0.82 2.10 [00A T
1225 |01 3 ;n] BT B ih 1.27 1.82 —  |00OKFT
1225 (02 BT FAI7ILE 0.54 0.81 2.44 |00 T
1225 |03 ERd) b F 0.47 0.73 —  |00A&FF
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A% |a X=F INF 3 : ¢ Sv |[B[EAL: [E[EEAL:

= = /h] (1 Sv/h] | 1 Sv/h]
1225 |04 BREHT Eih 0.74 0.91 — o0&
1226 |01 S T FAI7ILE 0.72 1.33 —  |o5EER
1226 [02 i = FAI7ILE 0.63 0.80 —  |o5EER
1226 [03 i &R =1 FAI7ILE 0.58 0.95 — |05 ER
1227 |01 Eaks HFA 0 F 0.78 1.19 — |o5EER
1227 [02 EE HE i ih 1.56 2.23 —  |o5EER
1227 |03 EES HE i ih 1.25 1.70 — |o5FEER
1228 |01 L INEFR Hih 0.86 1.27 — |o5FEER
1228 |02 W ¥H b F 1.05 1.61 —  |o5EEER
1228 (03 WA BT H b F 0.87 1.09 —  |05EER
1229 o1 [Ii=] BT R Eih 0.21 1.11 1.97 (055 &}
1229 [02 [1i=] FTHT a9 —k 0.40 0.89 1.44 (05 &R
1229 [03 A T Eih 0.40 1.51 2.60 |05 &R
1229 |04 [Ii]=] T Eih 0.73 1.18 2.76 |05 &R
1229 |05 WA A Eih 0.98 1.50 — |05 ER
1230 [01 [Ii]=] =7 Eih 0.46 0.80 2.19 |05FR &}
1230 [02 i b 2ith 1.15 1.58 —  |o5EER
1230 [03 [Ii=] N3 Eih 0.86 1.24 —  |o5EER
1259 |01 L5+ H Bith 0.59 0.85 — |[11E=
1259 [02 F8HF {kERT Eih 0.73 1.00 — |[1E=Z
1259 [03 EXH £ H Eih 0.74 0.99 — [11E=Z
1260 |01 F5HF BT Eih 0.71 0.89 — |[11E=ZE
1260 [02 HEAE J\75 1H Eih 0.61 0.80 — [171EZE
1260 [03 A £H Bih 0.66 0.93 — [171EZE
1261 01 N E e AN ] Bt 0.67 0.84 — [11B=ZE
1261 |02 AR Rk i 0.53 0.79 — [11E=E
1261 [03 HAEF Rk i 0.65 0.89 — [11E=E
1262 |01 N B/t 12 1h 0.63 0.86 — [71E=E
1262 (02 N B/t i ih 0.55 0.74 — [171E=E
1262 [03 THF =A Fih 0.59 0.80 — N1EZE
1263 |01 FARR-TH FAI7ILE 0.27 0.36 — |[171E=E
1263 [02 JtbR—TH 2 0.15 0.21 191 [17EE
1263 [03 JthR=TH FAI7ILE 0.29 0.47 — [71E=
1263 |04 JthR=TH 2 i#h 0.32 0.28 1.76 [11EE
1263 |05 FAHRR=TH FAI7ILE 0.37 0.58 — |[11E=
1263 |06 FAHRR=TH Bt 0.20 1.04 149 [17B=E
1264 |01 mPLR_-TH 2 0.12 0.15 1.78 [17EZE
1264 (02 MPR_TH FAI7)LE 0.24 0.35 — W1EZE
1264 (03 RPR=TH T AI7ILE 0.39 0.50 — 71E=
1264 |04 BPR_-TH FAI7ILE 0.27 0.45 — 1=
1264 |05 HHhRZTH 2t 0.17 1.08 1.71 [17&=
1265 |01 BEFR—TH FAI7ILE 0.35 0.47 1.12 |00 T
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a% | o XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1265 [02 BEHhR—TH FAI7ILE 0.28 0.39 1.08 [00AFT
1265 [03 $FHETETH FAI7ILE 0.25 0.37 0.82 [00&T
1265 |04 SHATETH Eih 0.23 1.01 1.75 [00AFT
1265 [05 SHETETH 12 0.15 0.94 1.71 |00 T
1265 |06 EyABTM T B FAI7ILE 0.22 0.40 0.95 [00A&T
1265 |07 SFHATUT B b F 0.38 0.56 1.25 [00A T
1265 |08 SHETETH av91)—k 0.21 0.38 0.90 [00&T
1266 |01 7 HAT M/ FAI7ILE 0.22 0.67 1.62 [00A T
1266 [02 F7 EHHET J\X 1Fih 0.59 0.75 1.86 |00 T
1266 |03 FHETETH T AI7ILE 0.42 0.51 0.86 [04;57K
1266 |04 SFHEHETMTH Fith 0.17 0.78 1.55 |04;&5 7K
1266 |05 FHETETH T AI7ILE 0.30 0.47 1.20 |04;F K
1266 |06 SFHEHEI=TH FAI7ILE 0.29 0.46 1.13 |00 T
1267 |01 Ha EHT B ih 0.86 1.10 1.63 [04;57K
1267 [02 Ha th)l| FAI7ILE 0.27 0.62 — 045K
1267 |03 Za il FAI7ILE 0.31 0.43 — 045K
1267 |04 S HETETH FAI7ILE 0.47 0.59 1.05 [04;F 7K
1268 |01 Foa=) HiIH 1 ih 0.23 0.65 1.05 |04;& 7K
1268 [02 = 5 HET FAI7ILE 0.29 0.50 1.54 |00 T
1268 [03 R ET Eih 0.27 1.16 2.03 [00A& T
1268 |04 Zoir a9y —k 0.36 0.89 1.77 [00AFF
1268 |05 Hair b F 0.53 0.77 1.70 [00AFT
1268 |06 Xl b F 0.42 0.55 1.86 [00AFT
1268 [07 X T FAI7ILE 0.66 0.75 1.49 [00A&T
1269 |01 X T T AI7ILE 0.45 0.69 1.44 00T
1269 [02 X e T FAI7ILE 0.48 0.58 1.37 |00 T
1269 [03 = NHT FAI7ILE 0.48 0.70 1.41 [00AKT
1269 |04 = T HET Eih 0.34 1.17 2.13 |00KT
1269 |05 = NHT T AI7ILE 0.43 0.61 1.27 |00 T
1269 |06 fiE LLI T T AI7ILE 0.35 0.55 0.97 [00AKFF
1270 |01 HFair F0F 0.73 0.98 1.77 [00KT
1270 |02 1 EET TAI7ILE 0.38 0.61 1.19 [00A&T
1270 |03 LI T HET FAI7ILE 0.64 0.98 2.03 |00K&T
1270 |04 LI T HET b F 0.64 1.00 1.61 [00AFT
1270 [05 1EEET FAI7ILE 0.51 0.86 1.59 [00A& T
1271 |01 P A HT FAI7ILE 0.67 1.02 1.75 |00 T
1271 |02 P A T FAI7ILE 0.49 0.77 1.61 00T
1271 |03 dt R EANE FAI7ILE 0.37 0.57 1.18 |00 T
1271 |04 JBHET FAI7ILE 0.38 0.62 1.68 |00 T
1271 |05 L] T AI7ILE 1.03 1.29 2.39 [00A& T
1271 |06 Jt HZENHET T AI7ILE 0.50 0.73 1.36 |00 T
1272 |01 BT FAI7ILE 0.47 0.91 —  |00O&KFT
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A% |a X=F INF 3 : ¢ Sv |[B[EAL: [E[EEAL:

= = /h] (1 Sv/h] | 1 Sv/h]
1272 (02 REET FAI7ILE 0.43 0.77 1.58 |00 T
1272 (03 K HET FAI7ILE 0.36 0.57 1.64 |00 T
1273 |01 EF P Hih 1.28 1.71 —  |o1EFI
1273 [02 BEHT Eih 1.14 1.61 —  [oo&Fr
1273 [03 BUEHRT FAI7ILE 0.35 0.62 2.00 [00A& T
1273 |04 BREHT B ih 1.66 2.11 —  [oo&Fr
1274 o1 EF BN Bt 0.41 2.20 —  |otEFI
1274 |02 i = b F| 0.93 1.23 —  |05FER
1274 |03 o = b F 1.20 1.42 —  |o5FER
1275 |01 Ii=] = Eih 1.31 1.28 —  |o5FEER
1275 |02 W = b F 0.99 1.78 — |o5EER
1275 |03 WA AR Eih 1.48 1.86 — |05 ER
1276 |01 A TN Eih 1.23 1.70 — |o5EER
1276 |02 WA FriE Eih 1.33 1.63 —  |05EER
1276 |03 o ¥ H O F 1.07 1.35 —  |o5FEER
1277 |01 wa ich] Eh 1.03 0.72 —  |05EER
1277 |02 wa +£0 R F) 1.05 1.45 — |o5EER
1277 |03 IT]=] I BT R 1.03 1.42 2.45 (055 &B
1278 o1 i X [Ea 1.01 1.50 053 &B
1278 |02 o s O F 0.99 1.47 —  |05FER
1278 [03 [Ii=] /A R 0.90 1.59 —  |o5FEER
1284 |01 KR N Hih 1.41 1.91 — o6 KK
1284 |02 KK B 44 B ih 1.16 1.49 — |06 KK
1284 (03 N BZA T AI7ILE 0.68 0.97 2.64 |06 KR
1284 |04 KiE BZA Eih 1.00 1.68 06 KK
1285 |01 KK BAFIL R 1.26 1.87 — o6 KK
1285 |02 KR KF Eih 1.35 1.83 —  |o6XKiE
1285 [03 KK AimE b F 1.23 1.70 — o6 KK
1286 |01 K #/E Eih 0.53 1.37 2.74 |06 K&
1286 |02 N PN Eih 1.49 1.97 06 KK
1286 |03 N EXFLL Eih 1.43 1.88 — |06 KK
1309 |01 L5+ 11 2ih 0.57 0.83 144 [17BE
1309 [02 L8+ FEE EHih 0.62 0.86 — |[11E=
1309 [03 F5HF = Eih 0.59 0.88 — |[11E=
1310 |01 L5HF & Eih 0.73 1.04 — |[11E=Z
1310 [02 F8HF AiIH Eih 0.72 0.98 — |[11E=Z
1310 [03 F8HF M/ R F 0.45 0.62 — |[11E=Z
1311 |01 EXEH VAN 211 Eih 0.69 0.96 — [11E=ZE
1311 |02 N LA H 2ih 0.70 1.03 — [11BE=ZE
1311 |03 LN 4z B ih 0.66 0.83 — [171E&E=
1312 |01 ERRETH FAI7ILE 0.31 0.47 — [171E=
1312 |02 THF i FAI7ILE 0.37 0.46 — [171E=
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i s BITE |(H244E3 |(H234E6 "

PR — WiSE \m  (we (Dwe | B
a% | o XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1312 [03 THF &H FAIZ7ILE 0.40 0.53 — |[171E=
1313 o1 mPR—TH FAI7ILE 0.28 0.51 — |[171E=
1313 [02 ARR—TH Fih 0.15 1.08 166 [17BE
1313 |03 FAHRRAETH FAI7ILE 0.30 0.41 — |[171E=E
1313 |04 THF \A FAI7ILE 0.37 0.47 — |[1E=Z
1313 [05 FAHRRATH Fih 0.24 1.01 151 [11BE
1314 |01 EFR=TH FAI7ILE 0.43 0.71 — |[171EZE
1314 |02 EFRETH FAI7ILE 0.29 0.41 — |[171EZE
1314 [03 EFR—TH FAI7ILE 0.43 0.54 — |[11E=ZE
1315 |01 BEHR—TH FAI7ILE 0.33 0.44 0.98 [00A&T
1315 |02 ESHETATH B 0.63 0.80 1.44 [00KFF
1315 [03 ¥FHETRNTH a9 —k 0.34 0.50 1.06 |00 T
1315 |04 SHETETH FAI7ILE 0.37 0.49 1.12 [00&FF
1315 |05 SFHETETH FAI7ILE 0.23 0.32 0.79 [00A&FF
1316 |01 SHETRTH av9y)—k 0.76 0.96 1.54 [00A&FF
1316 |02 SFHET=TH Eih 0.75 1.03 1.63 [00A&FF
1316 [03 SFHET=TH FAI7ILE 0.24 0.28 0.79 [00A&FF
1316 |04 $SHET—TH FAI7ILE 0.33 0.49 1.00 |00 T
1316 [05 SFHET—TH a9 —k 0.36 0.56 0.98 |00 T
1316 |06 EEHET_—TB FAI7ILE 0.55 0.69 2.32 [00&T
1317 |01 SHE=TH FAI7ILE 0.26 0.37 0.86 |00 T
1317 [02 SHE=TH FAI7ILE 0.47 0.96 1.49 |00 T
1317 [03 SHE=TH T AI7ILE 0.46 0.71 0.99 |00 T
1317 |04 = FgHT Eih 0.26 0.71 1.73 [00KFF
1317 [05 =L HT a9 —k 0.30 0.38 1.02 |00 T
1317 [06 =L HT a9 —k 0.28 0.72 1.19 |00 T
1317 [07 = HT FAI7ILE 0.45 0.83 1.29 |00 T
1318 |01 S5 HAT a9 —k 0.45 0.67 1.31 |00 T
1318 |02 P av9)—k 0.72 1.11 1.56 [00&FF
1318 [03 e 35 T FAI7ILE 0.64 0.95 1.72 [00A& T
1318 |04 K HET FAI7ILE 0.42 0.66 1.25 [00A& T
1318 [05 fE 35 T FAI7ILE 0.23 0.34 0.87 [00A&T
1318 |06 [f& 155 BT av9)—k 0.40 0.70 1.44 [00AKT
1318 |07 e 35 T 5 ] 0.54 0.80 1.56 [00A&T
1318 [08 = ;A lT a9 —k 0.34 1.29 1.93 |00 T
1319 |01 iR ET FAI7ILE 0.52 0.71 1.40 |00 T
1319 [02 FHET a9 —k 0.56 0.85 1.56 |00 T
1319 [03 B tHET a9 —k 0.61 0.91 2.27 |00AKFT
1319 |04 FTHET a9 —k 0.44 0.65 1.29 |00 T
1319 |05 &35 BT b F 0.64 0.90 1.54 [00AFT
1319 [06 B T T AI7ILE 0.58 0.79 2.65 [00A T
1319 [07 = THT FAI7ILE 0.55 0.78 1.72 |00 T
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a% | o XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1319 |08 = FHET FAI7ILE 0.42 0.59 1.52 00T
1320 |01 E L) a9 —k 0.38 0.54 1.46 |00 T
1320 [02 R AT FAI7ILE 0.65 0.85 2.05 [00K&T
1320 [03 R AT FAI7ILE 0.36 0.58 1.35 [00A&FF
1320 |04 {h RS AT FAI7ILE 0.37 0.56 1.42 [00KFF
1320 |05 =101 FAI7ILE 0.42 0.65 1.38 [00&FF
1320 |06 HEHT FAI7ILE 0.47 0.65 1.86 [00AKFF
1320 [07 T FAI7ILE 0.70 0.92 1.53 |00 T
1320 |08 FZRNHE] FAI7ILE 0.33 0.79 1.44 |00 T
1320 [09 b\ A T T AI7ILE 0.37 0.59 1.27 |00 T
1320 [10 b\ AT b F| 0.45 0.63 1.51 |00 T
1320 [11 JEEHHET b F| 0.49 0.76 1.75 |00 T
1320 [12 ¥AKHET FAI7ILE 0.44 0.62 1.72 [00A& T
1321 |01 HE R HT av9)—k 0.47 0.69 1.71 [00KT
1321 |02 [ER] Eih 0.53 0.69 2.47 |00KF
1321 |03 HE R HT T AI7ILE 0.51 0.82 —  |00KFF
1321 |04 JEMET FAI7ILE 0.30 0.60 —  |0o0XFF
1321 |05 S BT Eith 0.58 1.75 2.75 [00K&T
1321 |06 [ER:) b F 0.91 1.21 1.24 [00AFT
1322 |01 [ER:) FAI7ILE 0.46 0.76 1.42 00X FF
1322 |02 [ER ) FAI7ILE 0.48 0.70 1.55 [00A&FF
1322 |03 R ET Eih 157 2.03 3.32 [00A& T
1322 |04 MY FAI7ILE 0.68 0.99 1.97 |00 T
1323 |01 EF =&KX D F| 0.80 1.24 2.46 [01EF
1323 [02 TEF =ARK E#h 1.10 1.36 3.52 [01;EFI
1323 [03 JTEF =AKK b F 1.33 1.74 —  |01;EFI
1325 |01 T =] R T AI7ILE 1.10 1.71 3.00 |O5F &}
1325 [02 =] A Eih 1.83 2.17 — |osEER
1325 (03 1] =] A b F 1.41 1.94 — |05 ER
1325 |04 IT=] XN R F 1.35 1.75 —  |o5EER
1328 |01 W fE i H Eih 0.86 117 —  |o5EEER
1328 [02 WA =7HR FAI7ILE 0.44 0.74 1.57 |05 &}
1328 [03 WA A i 0.98 1.22 —  |05EER
1328 |04 WA A Eih 1.00 1.37 — |o5EER
1331 |01 KK BEE a>9)—k 0.44 1.05 2.29 |06 KK
1331 |02 K BEE Fith 0.58 1.86 — |06 KK®
1331 |03 N =25 Eih 1.66 2.30 — |06 KKE
1331 |04 N ZAW Eih 1.40 1.86 — |06 KK
1332 |01 KR EK Eih 1.34 1.69 — 06K
1332 |02 N % B ih 1.28 1.78 — |06 KK
1332 |03 N sEK b F 1.14 217 — |06 KK
1333 |01 KK L EEEI av9)—k 0.44 1.02 2.05 (06 K&
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P =1 XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
5 /h] 1 Sv/h] | 1 Sv/h]
1333 [02 K LEEH a4y )—k 0.38 1.01 3.06 [06 K&
1333 [03 KK EEH Hih 1.17 1.61 —  [o6 KR
1333 |04 KK HA EHih 1.11 1.65 2.02 |06 KK
1333 |05 PN HA Eih 1.25 1.72 — |06 KK
1334 o1 N HA Eih 1.24 1.67 — |06 KK
1334 |02 N FHI B ih 1.16 1.59 — |06 KK
1334 |03 N £ H Eih 0.62 1.65 — |06 KK
1335 |01 N BIi5 L FAI7ILE 0.51 1.12 2.53 |06 KK
1335 [02 N BT B ih 1.28 1.69 06 KK
1335 [03 KK LiEN b F 0.36 1.28 — o6 KK
1335 |04 KK aiE B ih 1.33 1.76 — o6 KK
1336 |01 KK AimFE Eih 1.29 1.44 — o6 KK
1336 [02 K FE avo)—k 0.52 1.01 2.36 (06 KK
1336 (03 N FE Fith 0.61 1.33 06 KK
1336 |04 K K fibF 0.61 1.48 — |06 KK
1359 |01 —HH TFTF Eih 0.59 0.78 — |08F#HHA
1359 [02 AR JeZE]Il B 0.55 0.77 — |[11E=
1359 (03 ZHH IR H Eih 0.51 0.70 — |08F HH
1360 [01 L5+ TR 2 ih 0.64 1.13 — [171E=E
1360 [02 ZHH EELE b F 0.21 0.64 .96 |08F FHH
1360 [03 —HH EELE R 0.17 0.76 1.16 (08 HH
1360 [04 ZHH ETF Eih 0.63 0.82 085 FHH
1361 |01 Z#HH = HIEM b F| 0.54 0.80 — |osFHMA
1361 [02 HEAE = EEI Eih 1.00 1.15 — |[11EZE
1361 [03 NG = EEEI 2t 0.78 1.09 — |[11B=ZE
1362 |01 —#H BEFHHI Hih 0.55 0.78 — |osFHMA
1362 |02 B AR AR i 0.74 1.10 — [11E=
1362 [03 AR AR Bih 0.84 1.00 — [11E=
1363 |01 —##H TR Eih 0.82 1.08 — |08F HH
1363 |02 —HH Zi5 Eih 0.58 0.74 — |08F HH
1363 |03 THF A I Eith 0.68 0.76 — [11E=
1364 |01 THF ] Eih 0.83 1.10 — |[71E=
1364 [02 —HH TR Eih 0.55 0.71 — |osEFHMA
1364 |03 ZH#HH TR 12 i#h 0.17 1.08 1.45 [08F5 HH
1364 |04 J\AH 7K 2t 0.28 1.08 1.57 (08 HH
1365 |01 J\AH HEE R F 0.15 0.47 1.09 (085 HH
1365 |02 J\AH HEE Eih 0.21 0.91 1.71 |08 F HH
1365 [03 J\KH 7K 2 B h 0.93 1.21 2.03 |085 3+ H
1366 |01 FFHE—TH T AI7ILE 0.32 0.48 2.08 |00A& T
1366 [02 FFHE—TH T AI7ILE 0.32 0.48 0.97 |00 T
1366 |03 7 H AT E& b F 0.79 1.01 1.52 [00A& T
1366 |04 SHET—TH FAI7ILE 0.42 0.60 1.00 [00&FF
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a% | o XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
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1366 |05 J\AHA HFE L 1 ih 0.65 0.77 1.19 |08 HHA
1366 |06 J\AH JIEA FAI7ILE 0.24 0.33 0.89 |08 HH
1366 [07 J\AH JINERA Eih 0.28 1.04 2.09 085 HH
1367 |01 p L] a>9)—k 0.72 0.99 1.58 [00A& T
1367 |02 L] FAI7ILE 0.69 0.99 —  [oo&Fr
1367 |03 A HEHAT FAI7ILE 0.39 0.53 —  [oo&Fr
1367 |04 FHE—TH a9 —k 0.42 0.52 1.12 |00 T
1367 [05 AN HHET FAI7ILE 0.36 0.61 1.44 |00 T
1367 [06 Z8 )| T a9 —k 0.32 0.51 1.06 00T
1367 [07 AN HHET T AI7ILE 0.28 0.39 1.01 |00 T
1368 |01 AN HHET FAI7ILE 0.36 0.66 1.26 |00 T
1368 [02 AN HHET FAI7ILE 0.51 0.72 1.08 |00 T
1368 |03 AN HHET T AI7ILE 0.20 0.43 0.95 [00AKFF
1368 |04 B hglr TFAI7ILE 0.90 1.12 1.84 |00 T
1368 |05 B Hglr T AI7ILE 0.34 0.55 1.10 |00 T
1368 |06 i& B T FAI7ILE 0.68 0.78 1.45 |00 T
1369 |01 & B T ao)—k 0.23 0.29 0.75 [00A T
1369 [02 i& B BT FAI7ILE 0.23 0.45 0.71 |00A&JT
1369 [03 KHT a>9)—k 0.63 0.81 1.67 [00AFT
1369 |04 % FAI7ILE 0.76 0.91 1.70 [00A& T
1369 [05 AHT FAI7ILE 0.43 0.81 1.60 [00A& T
1369 |06 KHT FAI7ILE 0.60 0.79 1.89 [00AFT
1369 |07 ZAHT FAI7ILE 0.33 0.46 1.18 [00KFF
1369 [08 X ) FAI7ILE 0.40 0.56 1.27 [00A&FF
1370 |01 L HT FAI7ILE 0.64 0.84 1.64 |00 T
1370 [02 JEHET FAI7ILE 0.71 0.98 1.90 [00A& T
1370 [03 Fit 5] FAI7ILE 0.40 0.61 1.37 [00A&FF
1371 |01 JEF J\IEHT Hih 1.58 1.76 2.81 |01;EF|
1371 |02 L EmT FAI7ILE 0.78 1.08 1.72 [00KFF
1371 |03 L ERT FAI7ILE 0.31 0.68 1.53 [00&FF
1371 |04 L ERT 12 H#h 0.42 1.12 2.06 |00K&T
1371 |05 R a>91)—k 0.59 0.79 1.21 [00A&FT
1371 |06 R FAI7ILE 0.83 1.03 1.71 [00KFF
1372 o1 EF 5T FAI7ILE 0.68 0.83 — |o1;EF
1372 |02 EF JI R ET FAI7ILE 1.23 1.74 —  [01EF
1372 |03 [ER:) FAI7ILE 0.73 0.75 1.75 |00AFF
1378 |01 o FA Eih 1.21 1.48 2.49 |05 &}
1378 |02 o =N Eih 0.83 0.52 1.74 055 &R
1378 |03 o 3] Eih 1.30 1.56 — |05 ER
1379 |01 o 1TER R F 1.15 1.46 — |05 ER
1379 |02 o B 44 Eih 1.08 1.73 —  |05FRER
1379 [03 Ii=] 4 Eih 0.92 1.23 — |o5FEER
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CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
SE
POV B OE & T %5&]&3 (ﬁﬁlﬁlE (ﬁﬁ/JE
i s BITE |(H244E3 |(H234E6 "
PR — WiSE \m  (we (Dwe | B
P =1 XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
5 /h] 1 Sv/h] | 1 Sv/h]
1380 |01 KK EERIL FAI7ILE 0.54 0.81 1.76 [06 K%
1380 [02 KiE EERIL B F 0.34 1.65 — |06 KK
1380 [03 KK FA EHih 1.39 1.69 — |06 KK
1380 [04 i WK FF 1.20 1.52 — |o5EER
1381 |01 PN KEA FAI7ILE 0.75 0.99 2.17 [06 KK
1381 |02 N KEA B ih 1.27 1.32 06 KK
1381 |03 N KEH B jh 1.05 1.28 — |06 K
1381 |04 N N b F| 0.66 1.20 — |06 KK
1382 |01 KK =i fbF 0.87 1.54 — |06 KK
1382 [02 N KEAM Eih 0.95 1.44 3.87 |06 KK
1382 |03 K ] b F 0.72 1.83 06 KK
1383 |01 K b R:] B F 0.86 1.77 — o6 KK
1383 [02 K LD b F 0.79 1.85 — o6 KK
1383 [03 K = fibF 0.95 1.74 — |06 KK
1385 |01 N =i Eih 1.16 1.67 — |06 KK
1385 [02 PN B avyl—k 0.58 0.83 2.16 |06 KR
1385 [03 KK R B F 0.82 1.66 06 KK
1385 |04 KK R O F 0.76 1.84 — |06 KK
1409 |01 ZH#H L Eih 0.49 0.69 — |08EFHMA
1409 [02 ZHH BRI B ih 0.64 0.89 — |o8FHMA
1409 [03 EET BAI Eih 0.45 0.64 — |o97E
1410 |01 —#H aiIR B ih 0.68 0.86 — |osFHMA
1410 |02 Z#HH Bl &R T AI7I)LE 0.36 0.46 0.77 |08 HH
1410 [03 2T F/Ad Eih 0.67 0.86 0978
1410 |04 EET JnikrE i 0.52 0.78 — |ooFm
1410 [05 EET Nk FAI7ILE 0.28 0.42 .87 |0978
1411 |01 #ET Z/RIde FAI7ILE 0.46 0.66 1.04 |0978
1411 |02 —#HH J\WENIE  |EH#h 0.64 0.75 08& FH
1411 |03 HET /N Eih 0.49 0.67 — |o9Fm
1411 |04 Z#H =Bl Eih 0.68 0.89 — |os&EHMA
1412 |01 —HH BI85 Eh 0.65 0.93 — [08FHH
1412 [02 —#HH el FAI7ILE 0.25 0.42 0.72 |08& HH
1412 |03 Z#HH e O F 0.33 0.57 0.91 |08F #+H
1412 |04 ZH#HH FERA EHih 0.16 1.17 1.69 [08F5 HH
1412 |05 Z#HH FERH Eih 0.15 1.02 1.57 |08 HH
1413 |01 ZHH T8 1R 0.22 0.59 — |08F HH
1413 |02 —HH T8 FAI7ILE 0.28 0.32 0.75 [08F FH H
1413 |03 —H#H & B ih 0.59 0.82 — |08FHH
1413 |04 —#HH FIERE T AI7ILE 0.34 0.46 0.85 [08F H H
1413 [05 —HH 5iF B ih 0.47 0.62 — |08&HH
1414 |01 Z#HH [PZiz FAI7ILE 0.37 0.51 — |osFHHMA
1414 |02 Z#H NhE FAI7ILE 0.22 0.32 0.71 |08 HH
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TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

[(AERDRA]
ZO—EBRIFZAEIVTLOAY A FNFNDRIERERE. Ay 1B BIBICEHLEZEDTT,
BHAEIYTLEDOAY1BSE, RO LEMSEICEMN DT, £F 1kmEA Ay a (KEL
Ayia)  RIZB00mMAYT 2 (INEWAYL 1) DIEIZEEZES52TULET,
SHEEDRTI — 1EMNFEIN TV, FITBIE R &G-S AT, UATOBIE T —2H50
=TY,

SE
POV B E B O (gismﬁs (ﬁﬁlﬁlE (ﬁﬁ/zg
i s BITE |(H244E3 |(H234E6 "

PR — REME g |pax ez | EW
va% (2R KF INF £ p Sv |fE[BAGE: [{E[E 4 -
= = /h] (1 Sv/h] | 1 Sv/h]
1414 |03 Z#H DR i 0.52 0.71 1.12 (08 HH
1414 |04 J\AH FeLE] Fith 0.59 0.77 1.20 |08 FH A
1414 |05 J\AH #4387 FAI7ILE 0.14 0.19 — |08sEFHMA
1415 |01 J\AH 38 FAI7ILE 0.31 0.47 0.90 |08 HH
1415 |02 J\AH #4385 FAI7ILE 0.26 0.39 0.62 |08 HH
1415 |03 J\ARH BN Eih 0.20 0.78 1.47 1085 HHA
1415 [04 J\AH EA T AI7ILE 0.22 0.33 0.66 [08F FHH
1416 |01 J\AH T g a9 —k 0.46 0.61 1.53 [08F HH
1416 [02 J\AH F e av9)—k 0.55 0.75 1.25 (08 HH
1416 |03 J\AH F e a o) —k 0.38 0.53 1.09 (08 HH
1416 |04 J\AH At 40 T AI7ILE 0.37 0.47 — |08&FHH
1417 |01 Z& )| BT FAI7ILE 0.69 0.96 1.85 |00 T
1417 [02 K EIHT av9)—k 0.27 0.38 2.91 |00AKfT
1417 |03 K EIHT av9)—k 0.32 0.55 0.78 |00 T
1417 |04 & &I BT T AI7ILE 0.35 0.61 1.30 |00 T
1417 |05 & &I BT FAI7ILE 0.36 0.54 1.14 |00 T
1417 |06 FARH E[A=E= 121 0.79 1.11 1.59 |08 HH
1418 |01 ;E BRET FAI7ILE 0.38 0.52 1.49 |00 T
1418 |02 f HHT FAI7ILE 0.59 0.81 1.45 |00 T
1418 |03 f HHT FAI7ILE 0.39 0.55 1.34 |00 T
1418 |04 KEIHT T AI7ILE 0.36 0.59 0.72 |00 T
1419 |01 F BT T AI7ILE 0.54 0.69 1.39 |00 T
1419 [02 F BT T AI7ILE 0.48 0.71 1.38 |00 T
1419 [03 Eali] FAI7ILE 0.52 0.70 1.35 |00 T
1419 |04 ;5 BHET T AI7ILE 0.47 0.66 1.37 |00 T
1420 |01 EEN T AI7ILE 0.59 0.85 2.47 |00 T
1420 [02 JEF fitig FAI7ILE 0.45 0.61 1.88 [01EF
1420 |03 EF tHE Fith 0.25 0.27 2.82 |01EF
1420 |04 EF fitig FAI7ILE 0.37 0.59 1.35 [01EF
1420 |05 JEF /A it 0.23 0.28 1.16 [01EF
1420 |06 JEF INAR b F 0.56 1.00 1.82 [01EF
1420 |07 EF 3k ] FAI7ILE 0.47 0.61 —  |o1iEF
1421 |01 JE F| ZEIFHT FAI7ILE 0.71 0.93 1.24 [01EF|
1421 |02 R SHET FAI7ILE 0.44 0.67 1.02 [01EF|
1421 |03 SEF Ei5HT FAI7ILE 0.40 0.55 1.68 [01EF]
1422 |01 EF = 5T R 0.27 1.52 2.79 |01;EF|
1422 |02 EF Fa H AT FAI7ILE 0.47 0.61 1.23 [01EF
1422 (03 TEF T HT o F 0.38 0.59 1.55 |01;EF
1422 |04 JEF th T HT FAI7ILE 0.56 0.87 —  |o1EFI
1422 |05 EF & I5HT Hih 1.08 1.41 2.29 [01;EF
1422 |06 JTEF N Fith 0.84 1.01 1.97 [01EF
1422 |07 JTEF J\IEHT T AI7ILE 0.44 0.67 —  |01;EF
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ISR E A E R

(A FT - BRI ST - SR 7K 2Pl - BRARSZ T - KUK H AR - L E X A(BA &) - S HEX A A M)

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST
Fy¥a B OE & AT %g]ﬁ% (ﬁﬁlﬁlﬁ (ﬁﬁ’zg
S A o BIZE ((H24%4E3 |(H234E6 | .

R - RESE @ (AmE e | BX
% |E x INF 57 : p Sv [fE[EAL: (fBIEAL:
s i /h] 1 Sv/h] | 1t Sv/h]
1423 |01 SR =4 D F 0.50 1.31 2.36 (01 Fl
1423 |02 S F| HxH FTAI7ILE 0.90 1.37 —  |0tEF]
1423 |03 SEF MRS R F 0.42 0.73 1.67 [01;EF
1423 |04 I ] & B R F 0.51 0.75 2.60 [01;EFl
1423 |05 ] £ FAI7ILE 0.65 0.95 —  [o1EF|
1423 |06 S F 5= HHT Eith 1.05 1.35 2.03 |01;EF
1423 |07 B I T FAI7ILE 0.69 085| — [otERI
1424_|01 EF BT B 7 1.01 155| — |O1EF|
1424 |02 EFI IRF Eih 1.32 1.77 —  |01EF]
1424 |03 EF RF Eih 1.26 1.56 —  |01EF]
1425 |01 SE | H [ Hih 1.57 1.83 —  [01iE#F|
1425 [02 SEF| H [ Hih 1.32 1.85 —  [01iE#F|
1425 |03 EF =1 FAI7ILE 1.00 1.41 2.17 [0OLEF
1425 |04 S F] ZE Eih 1.35 1.77 01;EF
142601 SEF M Fx 2 1.23 235| — [0UEF
1426 |02 EF] £/ i 1.26 1.64 — [01EFI
1426 |03 SEF R FAI7ILE 0.93 1.13 2.34 [01EF
1426 |04 SEF BAyRT  |Ei 1.25 1.50 01 E#
1430 |01 =] KA Eih 1.30 1.58 — |05 EB
1430 02 KK BEFTLL i 1.50 196 | — 06K
1430 |03 KK TES i 1.41 171] — |06KIK
1431 |01 DN TS b F| 0.40 1.47 2.61 |06 KK
1431_|02 KK KEAMA w7 0.63 1.32 06 KK
1431_|03 KK KER Eih 0.83 104| — J06KK
1431 |04 KR Y BT FAI7ILE 0.57 0.93 2.16 |06 KK
1432 |01 KiE WAl Hih 1.04 1.67 06 K&
143202 KK KE A B F] 0.83 123 — |06KK
143203 KK KE AR Eih 0.29 133| — JO6KIK
1433_|01 KR mAR Eih 1.20 139 [ — 06K
1433 |02 KR BIA i 1.22 163| — |06KIK
1433 |03 E PN =] b F] 0.75 0.81 1.85 |06 KK
1458 |01 EET Bl Eih 0.34 056 | — 0978
1458 |02 EET 2R Eih 0.32 060| — [0978
1458 (03 EET i Eih 0.40 063| — [097%
1459 |01 EET INE Eih 0.49 0.71 — 0978
1459 (02 EET FI8 Eih 0.44 076 | — [097%
1459 (03 EET =/R Eih 0.21 0.66 110978
1459 |04 Al EE FOF 0.19 0.53 1.04 [16EX
1460 |01 EET &L Eih 0.38 0.61 — 0978
1460 |02 BRIl ¥EM B F] 0.23 064| — [16§X
1460 |03 Al AR H Eih 0.50 070 — [16f8X
1461 o1 HE EHRN FAI7ILE 0.31 0.43 0.75 |08&= FH H
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
SE
POV B OE & T (gismﬁs (ﬁﬁlﬁlE (ﬁﬁ/zE
i s BITE |(H244E3 |(H234E6 "

PR — REME g |pax ez | EW
va% (2R KF INF £ p Sv |fE[BAGE: [{E[E 4 -
= = /h] (1 Sv/h] | 1 Sv/h]
1461 [02 HEET &L Hih 0.56 0.84 — |oomm
1461 |03 Z#H $a1x Eih 0.47 0.71 — |08FHH
1461 [04 Bl % H EHih 0.33 0.42 — [16fEx%
1462 |01 E= IEE FAI7ILE 0.16 0.24 0.70 |08 HH
1462 [02 E= L Eih 0.49 0.73 — |08FHHMA
1462 |03 Z—HH T Eih 0.43 0.72 — |08FHHMA
1462 |04 —#HH $21% Eih 0.47 0.66 — |08FHHMA
1463 |01 58 5 H FAI7ILE 0.22 0.32 0.93 |08 HH
1463 [02 5B M/ Eih 0.50 0.72 — |08FHHA
1463 (03 == S H FAI7ILE 0.45 0.58 0.98 |[08F F+H
1463 |04 aE 5 H Eih 0.45 0.69 — |08FHHA
1463 [05 == S H FAI7ILE 0.37 0.50 1.00 |08F FHH
1463 |06 = J\ % b F 0.36 0.46 0.99 (08 HH
1463 [07 =) B H a9 —k 0.07 0.06 0.05 |[08F F+H
1464 |01 aE A1 H FAI7ILE 0.22 0.34 — |08& HH
1464 |02 aE = H FAI7ILE 0.21 0.30 0.66 [08FH F+H
1464 |03 =2 = H FAI7ILE 0.20 0.32 0.58 |08& HH
1464 |04 = Ch-} Eih 0.55 0.67 1.03 |08 FH A
1465 |01 A AH FRATIR Eih 0.56 0.75 1.27 |08& H#H
1465 [02 A XH t a5 FAI7ILE 0.29 0.42 0.70 |08 HH
1465 [03 VN =EE3 FAI7ILE 0.36 0.47 — |08EFHMA
1465 |04 J\AH At A0 FAI7ILE 0.18 0.27 — |08FHHMA
1465 |05 K H KEH Eih 0.43 0.56 1.13 (08 HH
1465 |06 A ARH HTEH B ih 0.71 0.93 1.35 [08F HH
1466 |01 7 AH )| & 12 0.89 1.15 1.80 [08F FHH
1466 |02 75 AH TR av9)—k 0.24 0.44 0.85 (085 FH
1466 |03 7 AH =T TFAI7ILE 0.21 0.38 0.92 (085 FHH
1466 |04 5 AH = Eih 0.87 1.11 1.63 |08 HH
1466 |05 5 AH +Li{hHE FAI7ILE 0.40 0.47 0.87 [08&H FHH
1466 |06 5 AH TR a2 91)—k 0.20 0.34 0.65 [08F $H
1466 |07 5 AH FII=ES FAI7ILE 0.36 0.47 0.68 |08F H
1467 |01 ;a BRET FAI7ILE 0.46 0.70 1.50 [00A& T
1467 |02 A AH Y Nvi Eih 0.94 1.28 1.79 (085 H H
1467 |03 A XHE = )KL Eih 1.04 1.30 2.20 [08F HH
1467 |04 FAET Eih 0.74 1.30 2.41 [00A&FT
1467 |05 FA AT FAI7ILE 0.41 0.53 — 00X
1467 |06 FAET FAI7ILE 0.56 0.85 —  |00O&KFT
1468 |01 EF Fhm R 0.63 0.87 1.71 [01EF
1468 [02 S F| s FAI7ILE 0.32 0.45 —  |o1;EFI
1468 (03 FA BT T AI7ILE 0.67 0.91 1.90 |00 T
1468 |04 HNET FAI7ILE 0.54 0.83 1.72 |00
1469 |01 JEF N FAI7ILE 0.78 117 2.37 |01EF
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST
Fya B OE & T %3]&3 (ﬁﬁlﬁlE (ﬁﬁ/zg
e A BIE [(H244E3 [(H2346 "
PR — WiSE \m  (we (Dwe | B
A% |a X=F INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1469 [02 EF NS B F 0.33 0.51 1.31 [01EF|
1469 [03 SR A& FAIZ7ILE 0.85 1.18 2.25 |[01EF]
1469 |04 SEF RAKE FAI7ILE 0.47 0.62 —  [o1EF
1470 |01 EF ZERMAT O F 1.02 1.19 1.92 [01EF
1470 [02 TEF E 5T FAI7ILE 0.36 0.58 1.48 [01EF]
1470 [03 EF ZERMAT FAI7ILE 0.74 1.14 2.31 [01EFI
1470 |04 TEF ZERMAT FAI7ILE 0.39 0.70 1.94 [01EF]
1470 [05 SEF SEAHRT R 0.28 1.01 2.49 [01;EF|
1470 |06 JEF| N HET b F| 0.67 1.20 2.87 [01;EF
1470 |07 JEF % Hih 0.27 1.99 3.30 |01EF
1470 |08 SEF R HET T AI7ILE 0.34 0.64 —  |ot1iEF
1471 |01 JEF SRHET av91)—k 0.51 0.85 2.21 |01;EF|
1471 |02 EF EATH a>9)—k 0.34 0.60 1.72 |01 F
1471 |03 EF EATH R 0.93 117 2.16 [01;EF]
1471 |04 JE F| EATH FAI7ILE 0.97 1.37 2.07 [01;EF]
1471 |05 EF EATH Eih 1.37 1.74 2.87 [01EFI
1471 |06 EF EATH Eih 0.52 0.62 1.32 |01;EF|
1471 |07 EF REIX 1R 0.71 1.24 3.56 |01;EF
1471 |08 SEF XEEF 2 i#h 0.33 0.54 2.80 [01;EFI
1471 [09 TEF i %I BT FAI7ILE 0.54 0.84 1.82 [01EF]
1472 o1 EF AL R 0.32 1.45 2.34 [01EF
1472 |02 TEF Ed T AI7ILE 0.40 0.77 —  |01EF
1472 |03 JTEF £HT b F 0.78 1.14 1.60 [01EF
1472 |04 JTEF ¥AE FAI7ILE 0.62 0.61 — |o1;EFI
1472 |05 JEF PNCE FAI7ILE 0.45 0.58 —  |01;EF|
1507 |01 EET AR H Eih 0.41 0.62 — |o9Fm
1507 [02 EET JEHEE Eih 0.34 0.50 — |o9Fm
1507 [03 EET F=H i 0.37 0.51 — |ooFm
1507 |04 #ET ¥E/SPAE FAI7ILE 0.22 0.34 0.73 [0978
1508 |01 #ET ¥R i 0.25 0.63 — |o9Fm
1508 [02 EET BE b F 0.29 0.42 0.91 0978
1508 [03 I £H EHih 0.37 0.70 16{E%
1509 [01 B A RH Eih 0.41 0.60 — [16fEx%
1509 [02 B LEaHs Eih 0.59 0.85 — [16fEx%
1509 [03 Bl HH Eih 0.42 0.61 —  [16fE%
1510 |01 B A Eih 0.48 0.68 — [16Ex%
1510 [02 I LA8H b F 0.38 0.51 — [161E%
1510 [03 R FEE Hih 0.50 0.69 — [16fE%
1511 |01 oAl =N b F 0.24 0.44 1.08 [161E %
1511 |02 oAl SR ith B ih 0.42 0.55 — |16
1511 |03 5l ERY b F 0.43 0.55 — |16
1512 |01 Il ALREI b F 0.23 0.55 — |16
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
SE
POV B OE & T %5&]&3 (ﬁﬁlﬁlE (ﬁﬁ/JE
i s BITE |(H244E3 |(H234E6 "
PR — WiSE \m  (we (Dwe | B
P =1 XF INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
5 /h] 1 Sv/h] | 1 Sv/h]
1512 [02 Bl T Hih 0.47 0.74 — [16fE%
1512 [03 =5 WARRA Hih 0.41 0.63 — |08 HMA
1513 |01 B Ch-} Eih 0.53 0.66 1.11 |085 HHA
1513 [02 Bl = 2ith 0.22 0.72 — [16fEx%
1513 [03 N T Eih 0.57 0.71 —  [16fE%
1514 |01 X% HFA FAIZ7ILE 0.21 0.32 — [16Ex
1514 |02 N its FAI7ILE 0.25 0.31 — 168
1514 [03 7 A H PR Eih 0.63 0.77 1.24 (08 HH
1514 |04 5 AH b O Bih 0.54 0.70 1.20 (085 3 H
1514 |05 5 AH b O Eih 0.58 0.77 1.22 085 3+ H
1514 |06 7 AH KEHA FAI7ILE 0.23 0.38 — |08&HH
1514 |07 5 A H RO 121 0.57 0.73 1.21 [08F 3 H
1515 [01 7 AH XE FAI7ILE 0.19 0.31 0.62 [08F F+H
1515 |02 5 AH {+H Eih 0.62 0.90 1.23 [08F HH
1515 [03 Vel = Eih 0.14 0.18 1.83 [08F H#HH
1515 |04 5 A H AHKH T AI7ILE 0.33 0.50 — |08FFHH
1515 |05 5K H AAEHAKHA 1R 0.57 0.74 1.25 [08F HH
1515 |06 Vi G FAI7ILE 0.34 0.39 — |08 HMA
1515 |07 A AH FHA Eih 0.66 0.83 1.21 (08 HH
1515 |08 A XH A Eih 0.56 0.70 1.14 (08 HH
1516 |01 A=) [m] BT FAI7ILE 0.38 0.50 —  |o2#z
1516 |02 A=) =] BT FAI7ILE 0.34 0.51 —  |o2#&2
1516 |03 A Ead= £IART Fith 0.14 1.02 02%2
1516 |04 A ESA=] £ A BT a9 —k 0.19 0.77 0242
1517 |01 EX% K4 FAI7ILE 0.54 0.73 —  |o2#2
1517 |02 el Eih 1.13 1.41 2.32 |00K&T
1517 |03 FA BT TFTAI7ILE 0.56 0.70 00T
1517 |04 BEF B EX S FAI7ILE 0.39 0.51 —  |02k2FE
1518 |01 INEF "HAa Fith 1.40 1.86 —  |o1;EF
1518 [02 INEF i Hih 0.98 1.32 —  |o1EF
1518 [03 IZNEF IR R 0.90 1.25 —  [01EF
1519 |01 SEF E % EHih 0.33 1.55 3.20 [01EF]
1519 |02 EF 7% Zith 0.28 0.43 3.26 [01;EF]
1519 [03 SEF Er& [Ea 0.37 0.58 3.82 [01;EFI
1519 |04 TEF 7% O F 0.65 1.24 2.62 [01EF
1519 |05 INEF RFELW Zith 0.84 1.18 2.66 [01;EF
1519 |06 INEF TTEH b F 0.63 0.93 1.67 [01EF
1520 |01 TEF /Nt FAI7ILE 0.61 0.91 1.75 |01;EF
1520 [02 JTEF /MR b F 1.30 1.41 —  |ot1EFI
1520 (03 TEF A L Hih 1.08 1.36 —  |o1;EFI
1520 |04 JEF T A b F| 0.55 1.12 —  |01;EF|
1521 |01 JEF iR Hith 0.99 1.65 — |o1;EF
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST

Fya B OE & T (gig]ﬁii (ﬁﬁlﬁlE (ﬁWE
e A BIE [(H244E3 [(H2346 "
FOR - WiSE \m  (we (Dwe | B

A% |a X=F INF 31 : p Sv |[fE[EEAL: (B[ B4

= = /h] (1 Sv/h] | 1 Sv/h]
1521 [02 EF INFHIER Hih 1.43 1.63 — |01 EFI
1521 [03 EF INFit B 1.05 1.38 — |01 EFI
1522 |01 SEF J& Bith 1.17 1.58 — |01 BRI
1522 [02 SEF J& avy—k 0.45 0.86 1.97 [01EF]
1522 |03 TEF JR b F 0.80 1.40 —  |o1EFI
1522 |04 I ] =B 2 1.37 1.69 —  [o1EF|
1528 |01 X ExEH i ih 1.21 1.37 — |06 K&
1528 |02 N =HiF Hih 1.00 1.44 — |06 KK
1528 [03 Kig TERiw Eih 0.81 1.21 —  [06 KR
1528 |04 K TERiw FAIZ7ILE 0.38 0.51 1.48 [06 K&K
1530 [01 KiE b H ] Eih 0.36 117 1.97 |06 K%
1530 [02 K INSSHB L Eih 1.02 1.52 — |06 KK
1530 [03 K INESHh L Fith 1.26 1.90 — |06 KK
1531 |01 K 4F b F 0.74 1.21 — o6 KK
1531 |02 N RN R 1.06 1.17 — |06 KK
1531 [03 N 4F Eih 0.78 1.33 —  [o6KR
1555 |01 LEE HX AR iHh Hih 0.65 0.77 — [16fE%
1555 [02 LEE TAE Hih 0.35 0.45 — [16fEx%
1555 [03 EET il B ih 0.35 0.42 — |o97E
1556 |01 FtEE I\EHih Bt 0.31 0.38 — [16fEx%
1556 |02 FBEE =F L7 0.36 0.56 — [16Ex%
1556 |03 rtEE Eix B 0.44 0.57 —  [16fE%
1557 |01 FBE Fit B 0.11 0.46 0.82 [16{E%
1557 |02 LEE HFR FAI7ILE 0.27 0.37 NEES
1557 |03 LEE H & N8l FAI7ILE 0.22 0.29 — |16
1557 |04 LEE H & N8l FAI7ILE 0.17 0.31 — |16
1558 |01 TEE J\IE1ix Hith 0.47 0.58 1.10 [161E &
1558 [02 TEE J\IE1Ix FAI7ILE 0.27 0.46 — |16
1558 [03 TEE i) FAI7ILE 0.32 0.41 —  [16fEx
1558 |04 TEE mH FAI7ILE 0.23 0.31 —  [16fEx
1559 |01 TEE BERET Hih 0.54 0.68 — [16Ex%
1559 [02 Bl A EHih 0.53 0.79 — [16fE%
1559 [03 PN s BE Eih 0.47 0.65 — [16fEx%
1560 [01 X7 i FF 0.25 0.40 — [16fEx%
1560 [02 A0 T= Bt 0.44 0.65 — [16fEx%
1560 [03 N s i Eih 0.56 0.79 — [16Ex%
1561 |01 N M+ H Eih 0.40 0.55 — [16Ex%
1561 [02 K% H¥FH Eih 0.41 0.55 — [16Ex%
1561 [03 K% H+H B ih 0.51 0.66 — |16
1562 |01 N = 4 FAI7ILE 0.27 0.36 — |16
1562 |02 N = 4 FAI7ILE 0.29 0.43 0.76 [161E%
1562 [03 N HFA FAI7ILE 0.23 0.40 1615k
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(A FT - BRI ST - SR 7K 2Pl - BRARSZ T - KUK H AR - L E X A(BA &) - S HEX A A M)

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST
Fya B OE & T %g]ﬂ (ﬁﬁlﬁlE (ﬁﬁ’lg
e A BIE [(H244E3 [(H2346 "
FOR - WiSE \m  (we (Dwe | B
A% |a X INF 32 : u Sv |[fE[BEAL: (fE[EAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1563 |01 Vel aH 2ith 0.55 0.68 1.01 |08 F HH
1563 [02 Vi il Hih 0.65 0.81 1.12 [08F HH
1563 [03 X7 #HET FAI7ILE 0.23 0.38 —  [16E%
1563 |04 N ek FAI7ILE 0.24 0.38 — [16fEx%
1563 |05 AEF B/ E FAI7ILE 0.18 0.28 —  |o2kz=
1564 |01 AEF =L FAI7ILE 0.27 0.30 0.48 [0242=
1564 [02 A=) i FAI7ILE 0.41 0.60 0242F
1564 [03 S d=] Ed FAI7ILE 0.28 0.37 —  |o2k2=
1564 |04 AEF BT/ N 24 0.30 0.36 1.26 [0242F
1565 [01 EXE =H FAI7ILE 0.57 0.67 —  |o2k2E
1565 [02 ERE H% FAI7ILE 0.54 0.81 —  |o2k2=E
1565 [03 ERE H% FAI7ILE 0.43 0.54 —  |o2k2=E
1566 |01 INEF ART FAI7ILE 0.53 1.18 — |o1EF
1566 (02 INEF f/H FAI7ILE 0.31 0.79 —  |o1EF
1566 |03 ERF /A FAI7ILE 0.23 0.35 0.94 [02%23FE
1567 |01 INEF Fiefar H O F 0.51 0.74 —  |ot1iER
1567 |02 INEF /4 B F 0.61 0.75 4.05 [01;EF
1567 [03 INEF B21Z 1 FhFI 1.13 1.53 01EFI
1577 |01 X AR B 1.09 1.26 — |06 KK
1577 |02 N AR Eih 0.28 0.56 2.34 |06 KK
1577 |03 N =S5 Hih 0.92 1.18 06 KK
1602 |01 LtBE hE/ 04t Eih 0.14 0.61 0.86 [16{E %
1602 [02 FtEE ./ N Eil Eiih 0.41 0.54 1615k
1602 [03 RH TF B ih 0.50 0.66 — |o97E
1603 |01 LEE F3 B ih 0.44 0.57 — |164E
1603 [02 LEE = Hih 0.36 0.48 —  |161E%
1603 |03 LEE J\Eih B ih 0.34 0.45 — |16
1604 |01 TEE I Hith 0.35 0.49 IRES
1604 [02 TEE = Eih 0.41 0.49 — |16
1604 [03 TEE #FHEIt Eih 0.45 0.53 —  [16fEx
1605 |01 TEE FRTTR EHih 0.44 0.61 — [16fE%
1605 [02 TEE EEEEE] EHih 0.44 0.56 — [16fE%
1605 [03 TEE HEFRR Eih 0.50 0.72 — [16fEx%
1606 |01 LtBE ZEHT Eih 0.45 0.63 — [16fEx%
1606 [02 N ERdi) Eih 0.49 0.65 0.81 [16{E%
1606 |03 N s TR Eih 0.51 0.65 INEES
1607 |01 N HiZ FAI7ILE 0.24 0.31 — [16fE%
1607 [02 N THT T AI7ILE 0.20 0.32 — [16Ex%
1607 |03 R&Hx THT b F 0.54 0.66 1.20 [161E %
1607 |04 N BEi5 FAI7ILE 0.29 0.40 — |16
1608 |01 PN /B FAI7ILE 0.20 0.26 — |16
1608 [02 N /& FAI7ILE 0.39 0.48 — |16
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ISR E A E R

(A FT - BRI ST - SR 7K 2Pl - BRARSZ T - KUK H AR - L E X A(BA &) - S HEX A A M)

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST

Fya B OE & T %3]&3 (ﬁﬁlﬁlE (ﬁﬁ/zg
e A BIE [(H244E3 [(H2346 "
PR — WiSE \m  (we (Dwe | B

AL = X IhNFE 3 p Sv |[{E[EAL: [{BE[EE4L:

5 /h] 1 Sv/h] | 1 Sv/h]
1608 [03 N B/ FAIZ7ILE 0.23 0.38 —  [16E%
1609 [01 KEF HEE FAI7ILE 0.17 0.22 —  |02#%2F
1609 [02 PN s = /Hi FAI7ILE 0.21 0.31 —  [16fE%
1609 [03 X7 ARA FAI7ILE 0.20 0.28 —  [16fE%
1609 [04 N s ARA FAI7ILE 0.22 0.32 —  [16fE%
1610 |01 AEF — A0 TFAI7ILE 0.21 0.32 —  |o2#2F
1610 [02 AEF HEH R 0.68 0.87 1.40 [0242F
1610 [03 AEF — ZRA]] FAI7ILE 0.28 0.50 —  |o2#2F
1610 |04 AEF HEE FAI7ILE 0.35 0.46 —  |o2#2FE
1611 |01 AEF BT /A FAIZ7ILE 0.18 0.29 —  |o2k2=
1611 [02 AEF B/H FAI7ILE 0.25 0.37 — |o2#
1611 [03 ANEF 18 R FAI7ILE 0.25 0.32 — |o2#
1612 |01 ER¥ 27| FAI7ILE 0.27 0.35 — |o2#&
1612 [02 ERF PN Fith 0.17 0.24 2.02 0242
1612 |03 BEAF Kk H FAI7ILE 0.42 0.42 02%2
1612 |04 25 HEZE FAI7I)LE 0.17 0.21 —  |o2%2=E
1613 |01 INEF /A FAI7ILE 0.41 0.70 —  |01EF
1613 [02 EXE £B FAI7ILE 0.48 0.63 —  |02#2F
1613 |03 EXE —_vAa FAI7ILE 0.37 0.52 —  |o2fzE
1614 |01 INEF BA Eih 1.50 1.82 —  [01ER]
1614 |02 INEZE FRFA Eih 0.85 1.13 —  |01EF]
1614 |03 INEE R i ih 0.87 1.14 2.51 |01;EF
1614 |04 INE 3 Ei2 B 0.46 2.03 3.13 [01EF|
1615 |01 INEF =) b F 1.69 2.47 — |o1;EF
1615 [02 INEF FEiFI Hith 1.49 217 —  |o1iEF
1615 |03 JEF BEF BEih 1.32 1.64 — |01EF|
1624 |01 X AR avoyy—k 0.35 0.49 1.61 |06 KK
1624 |02 K =/ b F 0.63 1.01 — o6 KK
1624 [03 K AR Eih 0.96 1.20 — o6 KK
1624 |04 N INAEGR Hith 0.93 1.16 — |06 KK
1648 |01 FtEE ¥ H Eih 0.29 0.56 — [16Ex%
1648 [02 LEE /A Bith 0.37 0.58 — [16fE%
1648 [03 LEE PN ] 2 ih 0.36 0.58 — [16fEx%
1649 |01 LEE ITES Eih 0.35 0.70 — [16fEx%
1649 [02 LEE Rl Bt 0.35 0.53 — [16fEx%
1649 [03 TEE FH R F 0.29 0.40 0.79 [16{E%
1650 |01 TEE its Eih 0.11 0.44 0.98 [16{E%
1650 [02 TEE EKTF Fith 0.33 0.55 — [16Ex%
1650 [03 TEE HF& 3t 0.33 0.55 — |16
1651 |01 TEE P9 3| % H Fith 0.36 0.51 — |16
1651 [02 TEE b=t Fith 0.39 0.54 — |16
1651 |03 TEE BEXH 7 0.27 0.51 —  [16iEx
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST

Fya B OE & T %g]ﬂ (ﬁﬁlﬁlE (ﬁﬁ’lg
S A o BIZE ((H24%4E3 |(H234E6 | .
FOR - WiSE \m  (we (Dwe | B

A% |a X=F INFE 3 : ¢ Sv |[B[EAL: [E[EEAL:

= = /h] (1 Sv/h] | 1 Sv/h]
1652 |01 XFx A Hih 0.61 0.81 —  [16fE%
1652 [02 K7F% AH i ih 0.65 0.85 0.89 [16{E%
1652 [03 X7 /NI Zith 0.36 0.46 — [16fE%
1653 |01 X 7F ZHT avyl)—k 0.21 0.28 — [16fEx%
1653 [02 X7 T FAI7ILE 0.20 0.31 —  [16fE%
1653 |03 X% 5i5 FAI7ILE 0.38 0.54 0.99 [16{E%
1654 |01 N EFE a9 —k 0.19 0.22 165k
1654 [02 N Eta T AI7ILE 0.30 0.42 — [16fEx%
1654 [03 N Eta FAI7ILE 0.26 0.33 — [16Ex%
1655 |01 N EE FAI7ILE 0.16 0.21 — |16
1655 |02 N Ht FAI7ILE 0.34 0.47 — |16
1655 |03 K% B1F FAI7ILE 0.17 0.30 — |16
1656 |01 K3 fiE FAI7ILE 0.25 0.29 — |16
1656 |02 ANEF BRFIX avol)—k 0.44 0.57 —  |02#2FE
1656 (03 &l [ NI av91)—k 0.17 0.23 —  [16fEx
1657 |01 B2 g a>9)—k 0.48 0.61 — 0242
1657 [02 25 H/H FAI7ILE 0.23 0.31 —  |o2kz=E
1657 |03 Y = FAI7ILE 0.31 0.31 —  |o2kz=E
1657 |04 R =H 2 0.14 0.15 0.98 [0242F
1657 |05 Kz = H Eih 0.28 0.35 0.68 (02423
1658 |01 2R ®/% FAI7ILE 0.22 0.33 —  |o2kz=
1658 [02 25 H/HN FAI7ILE 0.12 0.16 —  |o2&zZE
1658 [03 25 EHIS T AI7ILE 0.30 0.37 —  |o2k2E
1658 |04 25 HIE T AI7ILE 0.18 0.27 0.71 (02423
1659 |01 25 EHIG FAI7ILE 0.28 0.40 02423
1659 [02 25 J\ERA FAI7ILE 0.23 0.51 —  |o2#2FE
1659 |03 INEF mEAN FAI7ILE 0.37 0.54 — |o1EF
1660 |01 EAME=TH Fith 1.37 1.92 — |o1;EF
1660 |02 mRe—TH Fith 0.91 1.13 — |o1EF
1660 [03 INEF HE Eih 0.80 1.13 — |o1EFI
1661 |01 EF EEFE Fith 0.45 1.40 2.70 |01EF
1661 [02 ERS=TH 2ih 0.21 0.31 3.24 [01EF]
1661 [03 SEF IREF avy1)—k 0.50 0.81 —  |o1EFI
1661 |04 EF BE¥E O F 0.71 1.05 2.56 [01;EF
1661 |05 mAE=TH TAI7ILE 0.56 0.82 —  |01EF
1661 |06 mEaE=TH 2 ih 0.12 0.16 2.81 [01EF
1661 |07 EF BEF Fith 0.86 1.56 2.88 [01;EFI
1661 |08 EF ETF FAI7ILE 0.84 1.15 — |01 BRI
1662 |01 EF LESE Zih 1.55 1.97 —  |01EF
1662 [02 R BEFE Fith 1.62 1.92 —  |o1;EFI
1662 |03 JEF BEF FAI7ILE 0.81 1.27 2.08 |01;EF|
1662 |04 EF —&EK Fih 1.40 1.56 017
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Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
ST

Fya B OE & T (gig]ﬂ (ﬁﬁlﬁlE (ﬁﬁ’lE
e s BIE [(H244E3 [(H2346 "
FOR - WiSE \m  (we (Dwe | B

a% = K=F INFE fi: u Sv ({E[BAL: |fE[BE{L:

= /h] L Sv/h] |y Sv/h]
1666 |01 SEF K31 H B 1.12 1.46 — |01 EFI
1666 |02 SEF FOE Eih 0.49 0.88 1.61 [01EF
1666 [03 JEF O Eih 1.04 1.22 —  |01;EF
1670 |01 X £ H avh)—k 0.49 0.64 1.25 |06 K%
1670 [02 N & H B ih 0.82 1.03 — |06 KK
1670 [03 PN & H i ih 0.87 1.14 —  [o6 KR
1670 |04 KK BT EHh 0.45 1.37 2.30 |06 K%
1694 |01 LFEE LOSE avy—k 0.15 0.37 — [16Ex%
1694 [02 rBE LOSE Fith 0.11 0.45 0.80 [16{E %
1694 [03 LEE LOASE T AI7ILE 0.22 0.42 INEES
1694 |04 LEE LOASE FAI7ILE 0.28 0.43 — |16
1694 |05 LEE LOASE Hith 0.27 0.41 0.84 [16{E
1695 |01 TEE g HEE Fith 0.28 0.52 NEES
1695 [02 TEE bk 1E Fith 0.29 0.42 — |16
1695 |03 TEE EFIR Fith 0.51 0.67 — |16
1696 |01 TEE AF& Eih 0.45 0.65 — 16§k
1696 [02 TEE 5F 2ith 0.30 0.39 — [16fE%
1696 |03 TEE a1 2 ih 0.39 0.52 — [16fEx%
1697 |01 PN s Eaal L Fih 0.44 0.64 — [16fEx%
1697 [02 =S| BEO it 0.34 0.46 — [16fEx%
1697 [03 =S /81 R F 0.41 0.55 — [16Ex%
1698 |01 1L KAt Eih 0.44 0.67 — [16Ex%
1698 [02 N EIZ I Bt 0.42 0.61 — [161E%
1698 [03 K7 e Fith 0.42 0.55 — |16
1699 |01 K% R T Eih 0.36 0.53 —  |161E%
1699 [02 N A N ET B ih 0.31 0.44 — |16
1699 [03 N Ail H Eih 0.39 0.62 —  |16{E%
1700 |01 &l [=H Eih 0.69 0.87 —  [16fEx
1700 [02 PN s N8 48 B 0.61 0.80 —  J16iEx%
1700 |03 /NE A Fith 0.44 0.58 —  [16fEx
1701 |01 K3 ek =e Eith 0.44 0.57 — [16Ex%
1701 [02 K3 FEH Bith 0.29 0.44 — [16fE%
1701 [03 &l t/EH 2ith 0.35 0.46 — [16fEx%
1702 o1 K3 AR T FAI7ILE 0.26 0.37 — [16fEx%
1702 [02 K FH)I NI FAI7ILE 0.35 0.50 —  [16fE%
1702 [03 K FI & FAI7ILE 0.24 0.36 — [16Ex%
1703 |01 Kz = H T AI7ILE 0.25 0.33 —  |02%2F
1703 [02 K3 =/)TF FAI7ILE 0.26 0.39 — [16Ex%
1703 |03 KEFE sEKA 3t 0.14 0.47 1.73 02423
1703 |04 KiF N H T AI7ILE 0.29 0.42 —  |02%2
1704 |01 RiF N H T AI7ILE 0.39 0.56 —  |02%2
1704 [02 RE RA Eih 0.17 0.11 1.53 (0242

35




Ayia) | RIZTE00mM AV 2 (NS AV 1) DIEIZESZSOTVET,

TS R 2B TE %
(R FF - S 3T - K ST - SRS - KR 3RAT - LB S AR (A8 - B3+ B AR 7T

(AERDRA]
CO—EBRIFARTYT LD AV AZTNENORIERERE. Ay 1B SIRICEELI-LOTT,
BECRAERYT LDAVS1FS L HEO LN SEICAA ST, T 1kmIAH AV 2 (KEL

CHIEMEDHWTI — I EENFENTWDIE, FT=[CRIEBEREL =LA T, URTDBRIE T —2 V30

=TY,
SE
POV B OE & T %3]&3 (ﬁﬁlﬁlE (ﬁﬁ/zg
i s BITE |(H244E3 |(H234E6 "

PR — WiSE \m  (we (Dwe | B
A% |a X=F INF 3 : ¢ Sv |[B[EAL: [E[EEAL:
= = /h] (1 Sv/h] | 1 Sv/h]
1704 |03 KiF RO Eih 0.12 0.13 1.20 [0242F=
1704 |04 BEE BT FAI7ILE 0.18 0.25 0.42 0242
1704 |05 25 L /HT FAI7ILE 0.21 0.25 —  |0242F
1705 |01 INE F Fih 0.29 0.66 —  |otEFI
1705 [02 25 L /H] Fih 0.39 0.51 1.27 |0242F
1705 |03 25 /BT R F 0.59 0.74 1.05 [0242F
1706 |01 mREa—TH FAI7ILE 0.39 0.60 —  |o1EFI
1706 [02 mRE—TH FAI7ILE 0.33 0.60 —  |otEFI
1706 [03 mER&S—TH T AI7ILE 0.62 0.98 2.11 |01EF|
1706 |04 ERE&E—TH Eih 0.10 0.27 1.84 |01EF
1707 o1 ERE&E—TH Eih 0.14 1.19 2.03 [01;EF|
1707 [02 BER&S=TH FAI7ILE 0.34 0.65 —  |01EF|
1707 |03 BER&S=TH FAI7ILE 0.58 1.01 — |01EF|
1707 |04 EF Z11 FAI7ILE 0.67 0.86 —  |01EF|
1708 |01 EF EX N o] b F 1.16 1.45 — |o1EF
1708 [02 EF tER fibF 0.33 1.49 .35 [01EF
1708 |03 EF TaA R 1.10 1.36 1.77 |01EF|
1709 |01 JEF EX N D] B F 1.02 1.45 01EF
1709 [02 SEF BNH1E Eih 1.41 1.78 —  |o1EFI
1709 [03 EF &R Hih 1.35 1.81 — |01 BRI
1710 [o1 EF #HT R 0.34 1.27 2.16 [01EFI
1710 |02 TEF EE L Eih 0.89 1.14 O EF
1710 |03 JEF ZNHE Eih 0.95 1.80 —  |01EF
1713 |01 SLFLL BigH B ih 0.74 0.98 1.37 [1232F 10
1713 [02 R H/NE Bih 0.76 0.96 1.73 |01;EFI
1713 |03 SLFLL =HE Eih 0.60 0.79 1.31 [1232F 1L
1713 |04 iLF E 1 12ih 0.64 0.89 1.56 |123F L
1717 |01 X 15/ £ F 0.93 0.85 —  |o6KiE
1717 |02 KR '/ b F 0.48 0.74 —  |o6XKiE
1717 |03 KK 15/ FAI7ILE 0.56 0.69 2.00 |06 KK
1717 |04 KK 15/F Eih 0.95 1.22 06 KK
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